| N of associated (recoToSim) duplicate tracks vs hit |

[N of associated (recoToSim) tracks vs hit_]

N of reco track vs hit

o Te] o
@ — 0 = o
o < : EY g Y
S H ] ke K
© © P (o 353 >
— = N N M .% w
< H s M Q — 5
S : 5 o 5
g . g [3] S o
& 4 = < & =
3 cebede | £
o N : 2
— . £ 3
H g
o B
© 2 2
0 w
< Lo 8 e
g g
o~ H = 3
N g £
1 ] 8
1Y o el H 3
S S M 5
oney =) syoeun areondnp L ssoen areondnp
o n o
S 2 N o o S o
= ' [ [ [9]
> P D e R A R R R S TR i TR 9 >
LD . —
) M & o K
B [ ] ) ©
e : N & 2 =8
] = o < <
..... (3]
x — @
e} © o
o [Te} m IRt
— - —
o o
N —
=]
[fe) [ee]
= —
©
o
—
LD <
0 N
L
) = )
S S S
Syoen axey oney oney Syoen axey
o Te] o
< 2 N o 0 S o
< H o o )
> > 4% >
[fel .
e} m ke & — T
R (o I e S S A, N, SNt RN PR ©
o = : RS 2 =9
&} = — a — X
— N T S Y e T S AU SRR L. SPPI SRR <5
—— —— aYVﬂ W 5 '~ <
_— —— f
== P R 7} 3 g & —— e
—— — x b a —
== '} £ 8
. - hd 0 2 4o
= I + H H =
x - L ]
x o s =1 g - B EEEEFE PEERPPEPEPEPFEPPPPPRPEPEFPRE. PEFEY IRPRY o
- -RREh i T = £
[ xT £ E "
B E ]
-] . 1] ] 2
-3 ¥ : :
-] RN i i g H 1~
- R he =1 3
X Lo g m o~
. [ i H H H 1 [ P A P P P i
= ) =) & =3 O 4 8 r B3 ~ =) 1 o
=) a 3 ] i 5 (=] =) =) a2 3
— - [=} o M z — — — - [=}
syjoel} aniy oney syoel anyy oney =) syoen ann LI syoen enn oney
o L o
. < . N o © n %)
o Cole g o2
......... 2 : B R ) — 3
Jox T <
o . N .o X — ™
1) = a < <
_— Q
= o g S
== R LT © 8 i
== T — _ = —
... o - = B A o
* 9 - 9l 5 —
x T L) R >
Eade s o = E ™ = oo
= — T k] a
“” — - [s1 o™ -
o= o @ £L @ N e ©
L= —RERE 1 > - > >
B S A iy o] N S =
............................. LE e g T g g
== = ° . o ~
j H 8 H ] < 3 i H
S S = rd = = road = = =) = 2
=) =) ] 5 ] S ] 5 g3 ]
- - (=} = o = o = - (=}
syoen oney syoen oney = syoen oney syoen oney




	Contents
	Page 1


